Calculus Maximus WS 1.4: Analytic Limits
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Calculus Maximus

WS 1.4: Analytic Limits

1. Using the memorized trig limits, evaluate the following limits. Show all steps.

(a) lim sin2x _
x—>0 X

-2
() lim 22~

x>0 X

2

. cos“x—1
8. Ilm——=

x—0 2xsinx

(A) -1
sin 2x

9. lim =
x—=>0 X COS x

(A)0

. t
10, 1im SO0 _

x—0CSc3x

(A)2

For problems 7 — 12, evaluate the given limits.

g
7. lim——=
=3 x-=3

3
10, tim ¥

x—»2t X+ 2

17 1 2R3
rs3t x2 =9

(A) DNE

Page 2 of 2

1
(D) 2

(D) 2

(D) -2

sin x
b) i
®) xl—r>r(l) 2x2 —-X
(©) lim 3S'1n 4x _
x—0 sin3x
®) -1 © 1
2
B) 1 © L
2
(B)0 ©) +
2
8. lim|x+1|=
x—2
3
_4
1. tim 24
xo4” x—4
B)0 O1

(D) -1.5

9

. lim

. Xx+sinx
(c) lim =
x—0 X
2

(f) lim—>— =

x—>01—cosx

(E)0

(E) DNE

(E) DNE

6-3x _
oot [2x -4

12, im 2X*10

BT

(E) 1.5



